
1orjinautomotive.com C
H

R
Y

S
L

E
R



2

      CHRYSLER
LE BARON  (1994-->)

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 CR004 00180 Stabilizer link 4695831 - M12x1,5-95 mm

Ref Old
code CODE Description OE – Number OE – Number FEATURES

2 CR005 00181 Tie rod end ES3008RL - -

     

1 00180 1 00180

2 00181 2 00181



3orjinautomotive.com

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 01503 Tie rod end 5274470 - -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

2 CR002 00178 Ball joint 4443405 4694747 -

 

1 01503 1 01503

2 001782 00178

      CHRYSLER
VOYAGER II (ES) (08/1990-09/1995)



4

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 CR003 00179 Stabilizer link 4743454AA -
M12x1,75-310 

mm Ø25

2 - 02729 Stabilizer link 5272190 - Rear

3 - 03382 Stabilizer link 4743021AA K04743669AC
M12x1,75-310 

mm Ø22

Ref Old
code CODE Description OE – Number OE – Number FEATURES

4 CR001 00177 Tie rod end 4797706 - -

5 - 02582 Axial joint 04743430AB 68196443AB -

6 CR002 00178 Ball joint 4443405 4694747 -

 

1 00179 1 00179

3 03382 3 03382

6 00178 6 00178

2 02729 2 02729

5 02582 5 025824 00177 4 00177

      CHRYSLER
 VOYAGER III (GS)  (01/1995-03/2001)



5orjinautomotive.com

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 CR003 00179 Stabilizer link 4743454AA -
M12x1,75-310 

mm Ø25

2 - 02729 Stabilizer link 5272190 - Rear

3 - 03382 Stabilizer link 4743021AA K04743669AC
M12x1,75-310 

mm Ø22

4 - 02838 Tie rod end 5066373AB - -

5 - 05928 Axial joint 68019642AA 68019643AB -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

6 - 05930
Control arm 

complete-L
4766543AA 4766543AD -

7 - 05931
Control arm 

complete-R
4766542AA 4766542AD -

8 - 05935 Ball joint
4766542AA 

Part of
- -

9 - 05932 Bushing
4694760AC 

Part of
- Small

10 - 05933 Bushing-L 4743095AA 4743094AA Big

 

5 05928 5 05928

7 05931

10 05933

4 02838 4 02838

6 059308 05935 8 05935

9 05932

      CHRYSLER
VOYAGER IV (RG) (02/2000-12/2008)

1 00179 1 00179

3 03382 3 03382

2 02729 2 02729



6

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 CR003 00179 Stabilizer link 4743454AA -
M12x1,75-310 

mm

2 - 03382 Stabilizer link 4743021AA K04743669AC
M12x1,75-310 

mm

3 - 05945 Tie rod end 68033171AA K68156146AA -

4 - 05946
Control arm 

complete-L
4766911AF K04766911AL -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

5 - 05947
Control arm 

complete-R
4766910AF K04766910AL -

6 - 05950 Ball joint
4766910AL 

Part of 
- -

7 - 05948 Bushing
04766910AJ 

Part of
- Small

8 - 05949 Bushing
4766910AG 

Part of
- Big

 

5 05947

3 05945 3 05945

7 05948

6 05950 6 059504 05946

8 05949

      CHRYSLER
GRAND VOYAGER V (RT) (10/2007-12/2015)

1 00179 1 00179

2 03382 2 03382



7orjinautomotive.com

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 02586 Stabilizer link 04656934AB 4656934AB Rear

2 - 02685 Stabilizer link 05272324AC 5272324AC 101,5 mm

3 - 02344 Tie rod end 4762861AA -

M12x1,25-

Female-

M14x1,5-116 

mm

4 - 02585 Axial joint 5272500AE 68039889AA -

5 - 05940 Axial joint 68040222AA - -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

6 - 05941
Control arm 

complete-L
4656731AH 4656731AN -

7 - 05942
Control arm 

complete-R
4656730AH 4656730AN -

8 - 02584 Ball joint 4656010 4656010AE -

9 - 05943 Bushing
4656730AH 

Part of
- Small

10 - 05944 Bushing 4656012AB 4656012AF Big

 

1 02586 1 02586

9 05943

3 02344

3 02344

3 02344

3 02344

7 05942

2 02585 2 02585

6 05941

10 05944

8 02584 8 02584

      CHRYSLER
PT CRUISER  (06/2000-12/2010)

4 02585 4 02585

5 05940 5 05940



8

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 04726 Stabilizer link 4766866AA K04766866AA Rear

2 - 02851 Stabilizer link-L 4895483AA K04895483AC -

3 - 02852 Stabilizer link-R 4895482AA K04895482AC -

4 - 02815 Tie rod end 52013468AB 52013468AD -

5 - 04718 Axial joint 68028831AC - -

6 - 04717 Ball joint 5290539AB K68159271AA -

7 - 03677 Bushing
4782612AC 

Part of
- -

8 - 04721 Bushing
4782665AB 

Part of
- -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

9 - 05938 Bushing 04782591AB - -

10 - 05939 Bushing
04782581AB 

Part of
- -

11 - 04725
Track Control 

arm
4782561AC K05168389AB -

12 - 04722
Track Control 

arm-L
4782613AC 5180607AB -

13 - 04723
Track Control 

arm-R
4782612AC 5180606AB -

14 - 04719
Upper Control 

arm complete-L
4782665AB K68045131AE -

15 - 04720
Upper Control 

arm complete-R
4782666AB K68045130AE -

 

1 04726 1 04726

12 04722 7 03677

11 04725 11 04725

14 04719 15 04720

3 028522 02851

6 04717 6 04717

10 05939

13 04723

4 02815 4 02815

8 04721

      CHRYSLER
300C/300C TOURI. (EXC.AWG)  (09/2004 - 11/2012)

9 05938 9 05938

5 04718 5 04718


